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(2047) 2. FTEERMZEH

(1) Under a perfecly competitive market,a firm has a cost function
241 iy>0
el = ¥y y
"y} { 0 if ¥= 0.

Let ybe the firm's output and p be the price of output, and let the factor prices
be fixed. If p= 2 how much will the firm produce? If p= 1 how much will the
firm produce?

(2) Determine whether the  following production functions exhibit
constant, increasing, or decreasing retwmns to scale.

A, Q = 3L+ 10K +.500

B- Q - IDLGEI'{OJ

{1) Perfect price discrimination
(20 FEisk averters

(3) Open-market operations
(4} Multipler effect
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(105) 4. ErH#E

Suppose that this vear’s mone ¥ supply is 3500 billion, nominal GDP is
$5 trillion, and real GDP is $2.5 trillion. (1) What is the price level? (2)
What is the velocity of money? Suppose that velocity is constant and
the economy’s output of goods and services rises by 5% each year. (3)
What will happen to nominal GDP and the price level next year if the
Central Bank keeps the money supply constant? (4) What money
supply should the Central Bank set next year if it wants to keep the
price level stable? (5) What money supply should the Central Bank set
next year if it wants inflation of 1097
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(1) A policy change that reduces the natural rate of unemployment
a. shifts the Phillips curve right,
b. shifts the Phillips curve left.
c. shifts the long-run aggregate supply curve right.
d. Both b and ¢ are correct.

(2) Barb, a homemaker who works as & volunteer, is counted as
a. employed.
b.unemployed.
¢. not in the labor force.
d. Both b and ¢ are correct.
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(3) Assume that there is a multiplier effect and that the total
crowding-out effect is $6 billion. If the marginal propensity to
consume (MPC) is 0.75, an increase in government purchases of 310
billion will shift aggregate demand |
a. left by 524 billion.

b. left by $36 billion.
¢. right by $34 billion.
d. right by $36 billion.

(4) One key difference between an oligopoly market and a competitive
market is that
- a. oligopolistic firms are interdependent while competitive firms are

not.

b. oligopolistic firms sell completely unrelated products while
competitive firms do not.

c. oligopolistic firms sell their product at a price equal to marginal
cost while competitive firms do not.

d. oligopolistic firms are price takers while competitive firms are
not.

(5) Why do airlines often charge students and vacationers 2 lower price

than business travelers?

a. It is cheaper to provide airline service to students and vacationers
than to business travelers.

b. The demand of business travelers is generally less elastic than the
demand of students and vacationers.

c. The demand of students and vacationers is generally less elastic
than the demand of business travelers.

d. Airlines prefer to deal with students and vacationers rather than
business travelers.

(6) Which of the following would cause the demand for economists to
increase?
a. an increase in the productivity of economists
b. a decline in the demand for economic services
c. a law that mandated higher wages (price floor) for economists
d. an increase in the number of economists who belong to a union
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(7) If a tax is imposed on a market with elastic demand and inelastic

supply,

a. buyers will bear most of the burden of the tax.

b. sellers will bear most of the burden of the tax.

c. the burden of the tax will be shared equally between buyers and
sellers.

d. it is impossible to determine how the burden of the tax will be
shared.

(8) A firm faces the following long run cost function
TC = q°- 40q" + 450q
Average cost, AC, will be at its minimum when
a.q=10,AC=20
b.q=40,AC =60
c.q=40,AC=10
d.q=20,AC =50

(9) In order for the allocations of commodities and inputs in an economy
to be Pareto efficiznt,
a. the total quantities consumed must be on the production
possibility curve.
b. the allocation of the commodities must be on the contract curve.
¢. the marginal rate of substitution for all consumers must equal the
marginal rate of transformation.

d. all of the above are correct,

(10) Herbert's utility function for food (F) and clothing (C) can be
written as U = F*C. If the price of food is $4 per unit and the price
of clothing is $2 per unit, how will Herbert allocate his $40
budget?

a. 10 units of clothing and 5 urits of food
b. 20 units of clothing and 10 units of foad
c. 5 units of clothing and 10 units of food

d. 20 units of clothing and O units of food




